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0-1. 5 U ¢(z,y, 2) = 322y —y322 TRIND L E, 5 (1,-2-1) B 5 Vo 2R K.
(fi%)
_ 0. 0. 9 2 3.2
qu—(axz—i-ay]—i- 8Zk)(3:1: y—y°z%)
= 6xyi + (322 — 3y*22)j — 292k

At point(1,-2,—-1), V¢ = —12i — 95 — 16k

0-2. g =In|r| TRENBELE Vo 2RDE. I CTT=xityj+zk THB.
(fig)
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7= Va2t + 22 o=Infr| = SIn(e® +y2 + %)

1 2x 2 2z
Vo = -{i : A
2 IE2 + y2 + 22 IZ?2 + y2 + 22 I]C2 + y2 + 22

+J

}

_wityjt+zk T
_a:2+y2+22_r2

0-3. ¢ = 203y%2* TRIND L E, (1) YV (div grade) D% KD &. (2)VVe = V3¢ 725
Z &z,

(1) Vo = 6229?24 + dady2tj + 8239?23k
VVo¢ = 12xy?z* + 2423y% 2>
0 0, ,0p. 0¢ 8¢k
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0-4. A = 2%yi — 2xzj + 2yzk 725 & & curl curlA %R k.

(fi#)
ik
curlA=VxA=| Z 3% L | =(2x+22)i — (¢° +22)k
22y —2xz 2z
i j k
curleurlA =V x (V x A) = % a% % =2(x+1)j
20 +2z 0 —(22+22)



0-5.p=1/7| LT Vg ZRD K. TZTr=uait+yj+zk TH5.
(fig)

7l = Va? +y? + 22
x Y Z

gradp =NV¢ = @2 2232 TR p g2 k(x2 Y y? 1 22)32

xi+y) + zk T

(@242 2232 3

0-6. V2(1/|[F)) =0 %5 Z L %3t &. 22 Cr=xi+yj+2k TH5.
(fi#)

V2(A/I) = =2 + 47 + 2°) 732 + 327 (2% + o + 2°)
f(xz+y2+22)*3/2+3y2(z2+y2+22)*5/2
— (2?42 4 272 4322 (2 +y? + 2%) 02

— (a2 4222 3 1y 4 ) E gt 4 222 =0

0-7. 65U A =wzi —yzj +ayzk TRIND L EXN (1,-1,1) 1T 5 VA(divA) 23R X.
(%)
3,

— 0 . .0 . .
VA= (%z + a—yg + &k‘)(xzz —yzj + xyzk)

=z—z+ay=2ay, VA1, -1,1)=-1

0-8. XD A% ZEHE &.

(1) V x (V@) = 0(curl gradp = 0), (2) V(V x A) =0 (div curl A = 0)

82¢_82¢)_,(82¢_82¢) (82¢_82¢)_
oydz  0Oyoz Nozd: ~ oz02 oxdy  0xdy’

— 0?4,  9*A, 0%A,  0%°A, 0?4, O9*A,
) V(v x4)= (&cﬁy 020z (&cﬁy B 3y32> + ordz Oyoz

(1)  VxVeé=i(

)=0



